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(Cardinal Utility analysis)

(Total Utility)

(Marginal Utility)

Mun = Tun - Tun-1

(Orinal Utility Analysis)

(Optimal choice of the consumer)
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1 1 2 2P X +P X M

1 1 2 2P X +P X M

2

1
_ P
   P

I.
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Combinations Good 1 Good 2
 (MRS)

A 1 15 -
B 2 11 a)
C 3 8 b)
D 4 6 c)
E 5 5 d)
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= 

L
L

ΔTPMP =
ΔL
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TCSAC =
Q

TVCAVC =
Q

TFCAFC =
Q

TCMC =
Q




Change in Total CostMC =
Change in Quantity


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

Q TFC TVC TC AFC AVC SAC SMC
0 20 0 20
1 20 10 30
2 20 18 38
3 20 24 44
4 20 23 49
5 20 33 53
6 20 39 59
7 20 47 67
8 20 60 80
9 20 75 95
10 20 95 115
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41

Q TFC TVC TC AFC AVC SAC SMC
0 20 0 20 - - - -
1 20 10 30 20 10 30 10
2 20 18 38 10 9 19 8
3 20 24 44 6.67 8 14.67 6
4 20 23 49 5 7.25 12.25 5
5 20 33 53 4 6.6 10.6 4
6 20 39 59 3.33 6.5 9.83 6
7 20 47 67 2.86 6.7 9.57 8
8 20 60 80 2.5 7.5 10 13
9 20 75 95 2.22 8.33 10.55 15
10 20 95 115 2 9.5 11.5 20
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TR = p q
•

n n 1
_MR TR TR 

•

TRAR =
q

•
p× qAR = = P

q
•
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TR = p q n n-1
_............. = TR TR AR=.........

sam¯w hcpam\ amäw

Afhv



44

TR
q



45

•

•

•

•

•

•

•
•



46






47



48

•
•
•




